Chemistry 11

Ch. 5 - Molar Conversions Review #2
1. Calculate the molar mass of CaCl2∙5H2O.




2. Perform the following multiple molar conversions.

a. What is the mass of 2.07 x 108 molecules of PCl5?




b. What is the volume of 10.50g of N2(g) at STP?


c. How many O atoms are present in a 150 mL sample of CO2(g) at STP?


d. How many molecules are there in 75.00g of C8H18?


e. What is the density of H2(g) at STP?


f. The density of CCl4(g) at STP is 1.59g/mL.  How many atoms of Cl are there in 20.0g of CCl4?
g. What is the mass of 30.0L of SO3(g) at STP?


3. Calculate the percent composition of each of the following:

a. CaBr2




b. Ni(NO3)3





4. Find the empirical formula of a compound that is 50.5% C, 5.26% H, and 44.2% N.








5. What is the molarity of a solution that is made by dissolving 9.5 g of AgNO3 in 500.0mL of water?



6. What volume of 0.55M SrCl2 can be made from 150.0g of SrCl2?

7. 35.0mL of 0.95M Zn(OH)2 is diluted by adding an additional 55.0mL of water.  What is the new concentration of the solution?





8. 25.00mL of 0.35M NaI is mixed with 75.00mL of 0.48M NaI.  What is the resulting [NaI]?









9. What concentration of Fe(OH)3 results from dissolving 45.00g of Fe(OH)3 in 300.0mL of water?
